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TrigonometryExercise4 for No.9012
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(5m

I =Sin| ——
12

i

.3=Tan| —
12

.5 =Tan(255°)

57
7= Cos[— —j
L 12

No3 =

.2=Cos(105%)

Tm
4= Cot(— —J
12

i 2
.]=2COS[_J -1
8

.3=2Sin(15°) Cos(15%)

2= Cos(

197 I (197} (=
Cos| — |+ Sin Sin| —
60 15 60 15

b

2 Tan| —

8

2

b

1 —Tan| —

8

, No2 = __Tan(70°) — Tan(10%) 6= 12 Sin(22 50)2
-6=Sec(1657) " 14 Tan(70°) Tan(10°) o e
8= Sin[— 1—’;) .7 =Sin(40°) Cos(10°) — Cos(40°) Sin(10°) .8 = Sin(80°) Cos(10°) + Cos(80°) Sin(10°)
_ 2 2 Tan(s—nj + Tan(EJ
b4 [ m 36 9
9= Cos(—] - Sm(—] =
v [5)ml3)
1 — Tan Tan
L 36 9
[ [ b b1 } i [ [ 3w 3w } i
A=0,B=—",C=—",D=m A=n,B=—",C=—"",D=2n
2 2 2 2
{Condi = [Cos(a) :lj, Cond?2 = (Sin(B) :lﬂ {Condi = [Cos(a) :i], Cond?2 = [Sin(B) :iﬂ
2 6 L Nod= 5 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(p)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a - )
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(aa+P) .6=Tan(f—-0a)
L .7=Cos(2B) .8§=Tan(2 o) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 =[ Cond = (Cos(12°) = 0.978), Question = Cos(6°)], ,| U
T
M
No6 = [ Cond = (Cos(36°) = 0.809), Question = Sin(18°)], ,| U
T
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TrigonometryExercise4 for No.9016

[ , [SR]
I =Sin| ——
12

.3=Tan(15°)

191
.5 =Csc| —
12

(171:)
.7 = Tan|
L 12

Nol =

No3 =
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.2=Cos(105%)
4=Sin((-345)%)

.6 = Sec(285°)

.8=Cos(345%)

2 2
.1 =Cos(22.5°) — Sin(22.5%)

T T
3=2 Sin(—j Cos[—)
12 12

Tan(60°) — Tan(15°)
1 + Tan(60°) Tan(15°)

2
2=1-2S8in(15°)

.4=Sin(20°) Cos(10°) + Cos(20°) Sin( 10°)

b Sn (= (5m
6= Cos[—j Cos(—] - Sm[—j Sln[—J
18 18 18 18

, No2 = b
2 Tan| —/ 2
12 P
= 8:2Cos[—J -1
) 8
i 1—Tan| —
12
9 =Sin(70%) Cos(10°) — Cos(70°) Sin(10°) .10=C £7—RJC (1] Si [7—RJS (1]
0= in(70") Cos(10”) — Cos(70”) Sin(10”) .10 = Cos n 05| ” + Sin| n in| 2)]
[ b b1 } i [ [ 3n 375} i
A=0,B=—",C=—",D=m A=—"",B=2n,C=n,D="""
2 2 2 2
o ={coter =S} coma=(smp =3 comr=(simar= T conso=[ =3
Condl =| Cos(a) =~ |, Cond2 =| Sin(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos()=""
7 8 . Nod= 8 3
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa+fB) .6=Tan(f—a) S=Cos(aa—B) .6=Tan(f—-0a)
.7=Sin(2 a) .8=Tan(2 ) ] L .7=Sin(2 a) .8=Tan(2B) ]
M
No5 = [ Cond = (Cos(58°) = 0.530), Question = Sin(29°)], ,| U
T
M
No6 =[ Cond = (Cos(26°) = 0.899), Question = Cos(13°)], ,| U
T
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TrigonometryExercise4 for No.9018
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- - P
Tan(85°) — Tan(25°) o o o v
1= .2=Sin(20") Cos(10”) + Cos(20”) Sin(10")
1 + Tan(85°) Tan(25°) S
i 7 3=C (2250)2 Si (225")2 4=C (njc (llnj S'(E]S'[Hn] LS
.3 =Cos(22. — Sin(22. .4 =Cos| — | Cos — Sin| = | Sin
1=8in(105°) 2= COS[S_E] 15 60 15 60 &
12 . M
(nj ( Snj 2Tan(§J i 2 a
Nor=| =T, A== | oz = S=m ~6=1—25in(§] RN
5 =Tan((-165)°) .6=Cos((-345)") 1—Tan££] h
n , . 8 @
.7=Csc —E .8=Sin((-285)") . [TEJ (nj [TE] . [nj (njz M
- - .7=S8in| — | Cos| 7 |- Cos| — | Sin| — 8=2Cos| — | -1 U
3 12 3 12 1
LL T J]
. 5n T (Sm) _(m
.9=2Sin(15°) Cos(15°) 0= CosE—J Cos(—] + Sln(—] Sln(—] 2)
L 18 9 18 9) | -
o
2
L
[ { T 3n } i [ [ 3n T } i
A=0,B=—C=—,D=2n A=n,B=—,C=—D=n
2 2 2 2
[comar={sncer= ) comz = copr=3] ]| o= smar=F ) conse = cospr =3
Condl =| Sin(at) == |, Cond2 =| Cos(B) =" Condl =| Sin(at) =— |, Cond2 =| Cos()=""
No3 = 5 SI Nod= 8 2
.1 =Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(a+ ) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa—B) .6=Tan(f—-0a)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 ) |
M
No5 =[Cond = (Cos(72°) = 0.309), Question = Cos(36°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
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TrigonometryExercise4 for No.9036

.1 =Cos(105°)

.3 =Tan(15°
Nol — 3=Tan(15%)

.5=Tan((-105)°)

[ 1975]
.7 =Csc| —
L 12

No3
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.6=Cos((-165)°)

.8=Cot((-255)°)

(5=
2=Sin| ——
12
) S5n
4=Sin| ————
12

, No2 =

| 2

[A 0,B=

\Ol-bm
\__./

[Condl = [Cos(a) =

.1 =Sin(a)
3 =Tan(a)
5=Cos(a—B)
L .7=Sin(2 B)

No5 =

No6 =

|u

ez
e

1 — Tan

Nu:

;)
)1l
ZTanan(9J

.5=2Sin(15%) Cos(15°)

- 2
7=1-2 Sin(_J
12

| .9=Sin(65°) Cos(20°) — Cos(65°) Sin(20°)

el o)

el o) )y

T
2 Tan(—J
12
1- Tan( ]
12

Tan(80°) — Tan(20°)
1 + Tan(80°) Tan(20°)
2
10=2 Cos(22.5°) — 1

b3 } i [ [ 3w 3w }
,C=—",D=mn A=n,B=—",C=—",D=2n
2 2 2
[smor=3)]| -, |Lcomr=( oo} coma={smm=3 |
, Cond2 =| Sin(B)="_ Condl =| Cos(a) =", Cond2 =| Sin() ="
3 Nod = 6 7
.2=Cos(PB) .1 =Sin(a) .2=Cos(B)
4=Sin(a+B) 3 =Tan(P) 4 =Sin(a - )
LH=Tan(f—-a) S=Cos(p—-a) .6=Tan(a+p)
.§=Tan(2 o) ] L .7=Sin(2 o) .§=Tan(2 B)
M
[ Cond = (Cos(84°) = 0.105), Question = Cos(42°)], ,| U
T
M
[ Cond = (Cos(20°) = 0.940), Question = Sin(10°)], ,| U
T
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TrigonometryExercise4 for No.9037

.3=Tan(15°) .4 = Sec(255%)
Nol = 197 ,N02: 5=1-25Si 1502 6=2Si L C L 5 ,
5=Cse| = | .6=Tan((-105)") 3 =1-2Sin(157) MR UTY A UP!
17 7=2Cos(22.5°) — 1 §=C [17EJC (lj s‘(”njs‘ (lj
.7=COS[ o J .8=Cot((-285)%) .7=2Cos(22.57) - 8= Cos| = o3| T3 + Sin| 30 )50 75
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1 =Cos| —
12

.1 =Sin(65°) Cos(20°) — Cos(65°) Sin(20°)

.2=Sin(75%)

2 2
b (=

.3=Cos| — | —Sin| — 4=
8 8

b 47 T
2= Sin[—j Cos(—J + Cos(—J
18 9 18

2 Tan(15°)

2
1 —Tan(15°)

Tan(35°) — Tan(5°)

. (475) ]
Sin| —
9

.9= Cos(12°) Cos(48°) — Sin(12°) Sin(48°) 0=

No3 = ., No4 =
.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(PB)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S5=Cos(aa—fB) .6=Tan(a+ ) S=Cos(p-a) .6=Tan(a+p)
L .7=Cos(2 o) 8=Tan(2B) ] L .7=Cos(2 o) 8=Tan(2 B) ]

M

No5 = [ Cond = (Cos(8°) = 0.990), Question = Sin(4°)], ,| U

T

M

No6 =[ Cond = (Cos(28°) = 0.883), Question = Cos(14°)], ,| U

T

|

1+ Tan(35°) Tan(5°)

b 3n
[A:O,B:E,Czn,Dz—}

Cond] = (COS( o) = %J Cond2 = (sm( B)= %H

2

2

T 37
A:E,B:n,C:—,D=2n

[ Condl = (COS(OL) = ?), Cond2 = (sm( B)= ;lﬂ
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TrigonometryExercise4 for No.9138

A
i
P
- . 14
Tan(60°) — Tan(15°) 5n T (57} (= s
1= .2=Cos| — |Cos| — |+ Sin| — | Sin| —
i ) 1 + Tan(60°) Tan(15°) 18 9 18 9 LS ]
0 [ 11 11 2
1 =Cos(15°) .2=Sm[—J _3:cOs(chOs[ n]—sm[i)sm( ”) 4=2Cos(15°) — 1 L
12 15 60 15 60 M
0 [ o3m 2 Tan(22.5%) 2 a
5=Csc(285°) 6= Cot((-285)°) I=Tan(22.5 h
r-cof 5| -su( ) sosil Floof ol s3] | |1
_.7:Tan I = Sec| I ] ./ =L08§ 12 1, 12 .0 = >IN 9 0S| 9 08 9 1 9 M
Tan(48°) + Tan(12°) e n v
= .10=2 Sin| — | Cos| — LT
L 1 — Tan(48°) Tan(12°) 8 8 )
o
A
L
b 3n T 37
A=0,B=—,C=——,D=21 A=—B=n,C=nD=""—
2 2 2 2
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{Condl = [Cos(a) :E , Cond2 = (Sin(B) :ﬁﬂ [Cond] = (Sin(a) :lj Cond?2 = (COS(B) :ﬁﬂ
No3 = 4 370 Nod = 2 ?
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(PB)
.3=Tan(B) 4 =Sin(a + B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(aa+B) .6=Tan(f—-a)
L 7=Sin(2B)  .8=Tan(2 ) ] L 7=Sin(2a)  .8=Tan(2P) _
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Sin(32°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Cos(20°)], ,| U
T
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TrigonometryExercise4 for No.9602

T

o (5= i
.1=Cos(105%) .2:S1n(—j

Tan(72°) — Tan(12°)

12

1+ Tan(72°) Tan(12°)

(= Sn b (S=
.3=Sin| — | Cos| /™ |+ Cos| — | Sin| ——
12 12 12 12

T Tm

Tan| —— |+ Tan| ——

18 36

.2=2Sin(22.5%) Cos(22.5°)

2 2
4=Cos(15°) — Sin(15°)

.3:Tan( j 4 =Csc((-75)°%)

LR NS~ Eruu SR

12 ER
Nol = 7n No2 = ’= (j (7} =2 Cos ) 1 o
— = — _ o 1 —Tan| — | Tan| —
.5—Sec£ 12) .6 =Cos((-255)°) an 18 an 36
2 1 2 Tan(22.5°
.7:C0t[ 37‘) _g:Tan[ 97‘) .7 =8in(50°) Cos(20°) — Cos(50°) Sin(20°) go—2Tan(223) )2
L 12 1271 | - Tan(22.5%)
(m ’ K b1 (Tmn) [ m T
.9=1-2Sin — 10 =Cos| — | Cos| —— |+ Sin| — | Sin| —
L 8 12 12 12 12 /]
I b T i I 3w 3w i
A=0,B=—C=—D=n A=n,B=—,C=—D=21
2 2 2 2
1 , 5 . -1 2
Condl =| Cos(at) =~ |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) =7
No3 = 6 80| No4= 6 3
.I=Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(B) .4 =Sin(a + B) 3=Tan(a) 4 =Sin(a - )
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(p—-a) .6=Tan(a+p)
L .7=Sin(2 o) .§=Tan(2 B) ] L .7=Cos(2B) 8=Tan(2 a) ]
M
No5 =[Cond = (Cos(6°) =0.995), Question = Sin(3°)], ,| U
T
M
No6 =[ Cond = (Cos(52°) = 0.616), Question = Cos(26°)], ,| U
T
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TrigonometryExercise4 for No.9616

.1=Sin(15%)

(775] _
.2=Cos| —
12

2
1 =1-2Sin(15°)

3=2Sin(22.5°) Cos(22.5%)
Tan(50°) — Tan(20°)

Nol =

S5m
3= Tan(—J
12

.5 = Tan(285°)

S5n
7= Csc(— —j
L 12

No3 =
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.1 =Sin(a) .2=Cos(PB) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) 4 =Sin(a + )
S5=Cos(ac+fB) .6=Tan(a—B) S=Cos(p—a) .6=Tan(a—P)
L .7=Sin(2 B) .8=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) J

M
No5 = [ Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
M
No6 = [ Cond = (Cos(30°) = 0.866), Question = Cos(15°)], ,| U
T

4= Sec(—

.6=Cot((-345)°)

|

llnj
12

, No2 =

1+ Tan(50°) Tan(20°)

11= I
7= Sin[ j Cos(
60 15

Cond] = (COS( o) = %j, Cond2 = (sm( B)= ;H

Jocof

, No4 =

i 2
2=2 Cos(—] -1
8

4= Cos(35%) Cos(25°) — Sin(35°) Sin(25°)

.6 =Sin(57°) Cos(12°) — Cos(57°) Sin(12°)

[ Condl = (Sin(a) = 73] Cond?2 = [COS( B)= ESH

1In) (= Tn b S T=
Sin| — | .8§=Cos| — | Cos| 7 |+ Sin| —
60 15 18 18 18

i
2 Tan[—j
12

o

T

18

)

LR NSRS~ R v

.8=Sin((-195)°) 2 2
i I T
49:Cos(—) —Sin(—) 0=
12 12 - 2
l—Tan(—) I
L 12 i
[ b 3n i i 37 b i

A=0,B=—",C=n,D=—""— A=—"B=2n,C="—",D=n

2 2 2 2
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TrigonometryExercise4 for No.10152

2
i

P

i o 2 : o 2 . o o o : o i V

.1 =Cos(15”) —Sin(15%) .2=Sin(15") Cos(75”) + Cos(15”) Sin(75") S

T

- _ o o 2 Tan| — LL S 1

) [5 n) . 5o Tan(50°) — Tan(20”) 4 8 &
A=Sin 7] 2= Cos(105) 14 Tan(50°) Tan(20°) ' N T

T 191I 1—-Tan - a

3 =Tan| — 4 =Cot| —

Nol = 12 12 )|, No2 = (= n 131 n (13m) _ (m)} , t
5=Sec(165°) .6=Tan((-75)°) .5=2Sin g Cos g .6 =Cos 36 Cos g + Sin| 36 Smg h
7=C (m § = Sin(345° n Y Tan(20°) + Tan(40°) @
| 7=Cos( T, 8=Sm04s) | .7:1—25111(—) 8= M

12 1 — Tan(20°) Tan(40°) U
b b (m (= 02 LL 7 1]
.9=Cos| — |Cos| —— |- Sin| 7 | Sin| — 10=2Cos(22.5%) -1 .
L 10 15 10 15 ] )
A
2
L
b T 3w 3w
A=0,B=—C=—D=n A=n,B=—,C=—D=21
2 2 2 2
4 . 1 ) -5 5
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="~
No3 = 9 21 No4= 8 6
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(p)
.3=Tan(B) .4 =Sin(a + B) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(Bp—a) .6=Tan(a—f) S=Cos(p—-a) .6=Tan(a—p)
L .7=Cos(2 a) .§=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 a) ]
M
No5 = [ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U
T
M
No6 = [ Cond = (Cos(36°) = 0.809), Question = Sin(18°)], ,| U
T
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TrigonometryExercise4 for No.11738
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_ . P
.1 =2Sin(15°) Cos(15%) .2=Sin(60°) Cos(15°) — Cos(60°) Sin( 15°) -
L ® ’ n ’ S
3=1-2Sin| — 4=2Cos| | -1
~ _ 8 12 LLS 1]
° . T . i 2 i 2 &
.1 =Cos(105%) .2 =Sin E .5=Cos(70°) Cos(20°) — Sin(70°) Sin(20°) .6 =Co0s(22.5°) —Sin(22.5°%) T
3=Tan(75%) 4T [ 1775] " " 2Tan§ a
.3 =Tan .4 =Tan| — T T T n
Nol = 12 /|, No2 = .7:Sin( 50 ]Cos[;}-rCos( 50 ]Sin(g) =" , ) !
5=Sec((-15)°)  .6=Cos(345%) . (EJ h
— Tan
137 197 8 @
_.7=CSC— I .8 =Cot| — )] (2_7'5] [EJ M
Tan| + Tan 9 U
.9 =Cos(102°) Cos(12°) + Sin(102°) Sin(12°) 0= 5 LL 7 1]
T b
1- Tan[—J Tan(—] l
| 9 9 ] )
o
)
L
[ b1 T } [ 3n 315}
A=0,B=—C=—D=n A=—B=2nC=nD="—"—
2 2 2 2
. 1 -3 1 . -2
Condl =| Sin(at) =— |, Cond2 =| Cos(B) =" Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=""
No3 = 4 811 No4= 3 3
.1 =Cos(a) .2=Sin(PB) .1 =Sin(a) .2=Cos(B)
3 =Tan(a) 4 =Sin(a + B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(aa—fB) .6=Tan(f—a) S5=Cos(ac+p) .6=Tan(a— )
L .7=Cos(2 B) S=Tan(2 o) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 =[ Cond = (Cos(54°) = 0.588), Question = Sin(27°)], ,| U
T
M
No6 =[ Cond = (Cos(32°) = 0.848), Question = Cos(16°)], ,| U
T
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TrigonometryExercise4 for No.11754
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.]:Cos( ] —Sln( J .2=2Sin(15") Cos(15)
8 8 S
_ 2
n (= 2 Tan(22.5°) LL.S 1]
= Sin(—j .2=Cos(105°%) 3=1-2 SIH(E] A= &
;2 1 — Tan(22.5%) 197al
T o o _ o
'32“‘“[1_) 4 =Sec((-165)7) 5= Sin(12°) Cos(48°) + Cos( 12°) Sin(48°) fo—n(35) - Tan(5 ) a
Nol = 19 , No2 = 1 + Tan(35°) Tan(5°) , , t
.5:Sin(——] .6=Cot((-75)°) Sm T h
12 Tan 36 + Tan| —— 16 @
.7:COS(19 n] 8= Tan(195°) = P . .8 =Sin(65°) Cos(20°) — Cos(65°) Sin(20°) M
- 12 - 1- Tan( JTan(—J U
3 36 T
ool sl o) g
.9=Cos Cos| —— |+ Sin Sin| — 10=2Cos(22.57) -1 2
L 30 15 30 15 J o
)
L
[ [ b b1 } i I [ 3n 3 n}
A=0,B=—C=—D=n A= B=2m C=n D=
2 2 2 2
[Cond! :(Sin(a)_lj Cond? = [Cosw):ﬁﬂ [Comu (Sm(a)- ] Cond2 = [cOs(B):iH
No3 = 6 61" No4= 3
1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
3 =Tan(a) 4 =Sin(a - B) 3 =Tan(P) 4=Sin(f-a)
S=Cos(p—a) .6=Tan(a+ ) S5=Cos(aa+f) .6=Tan(a—)
L .7=Cos(2 o) 8=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) J
M
No5 =[Cond = (Cos(22°) = 0.927), Question = Sin(11°)], ,| U
T
M
No6 =[ Cond = (Cos(42°) = 0.743), Question = Cos(21°)], ,| U
T
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TrigonometryExercise4 for No.11841

n n n ) |
.1 =Sin(85°) Cos(25°) — Cos(85°) Sin(25°) .2= Sin(—J Cos[—j + Cos(—) Sin(—]
6 12 6 12
2 2 2
3=Cos(15°) —Sin(15°) 4=2Cos(22.5°) — 1 -

2 Tan(22.5°%) R R . on . R r
P 6= Cos(10°) Cos(20°) — Sin( 10°) Sin(20°)

.
2= Cos(—J
12

.1=Sin(105°)

N N RN O R B R R I e g N

o o 2
3=Tan(75")  .4=Cot((-75)") 1 - Tan(22.5°)
Nol = 5—S'£ 1775) 6 Cos( 195° , No2 = Tc2 A ,
9 =Sin[ =77 ) -6=Cos(1957) 47:1—zsm£§] 8= Cos(60°) Cos(15°) + Sin(60°) Sin(15°)
19n T
.7=Csc| - I .8=Tan T Tan[7—nJ+Tan(5—nJ
- B [ m P 36 36
.9=2Sin| — [Cos| = A0 =
12 12 (775) [51:) LL 7 1]
1 —Tan| — | Tan| —/—
L 36 36 J
[ b T i I 3w 3w i
A=0,B=—",C=—",D=n A=n,B=—"",C=—",D=2n
2 2 2 2
1 . 3 . -2 4
Condl =| Cos(a) =7 |, Cond2 =| Sin(B) =~ Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="~
No3 = 2 4 . Nod = 5 5
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(P) 4 =Sin(a - )
S=Cos(aa—B) .6=Tan(a+f) S=Cos(p—-a) .6=Tan(a+p)
L .7=Cos(2 a) 8=Tan(2 ) ] L .7=Cos(2B) 8=Tan(2 o) ]
M
No5 = [ Cond = (Cos(58°) = 0.530), Question = Cos(29°)], ,| U
T
M
No6 =[ Cond = (Cos(18°) =0.951), Question = Sin(9°)], ,| U
T
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TrigonometryExercise4 for No.11842

.3=Sin| — | Cos| — [+ Cos| —
18 9 18

.1 =Cos(70°) Cos(10°) + Sin(70°) Sin(10°)

.2=2Sin(15%) Cos(15°)

Sin| — 4=Cos| — | —Sin| —
9 12 12

.1 =Cos(75%) 2= Sin(7—n) 2
12 . 2 b
.5=1-28in(22.5°) 46:2C0s£—] -1
b 11n 8
3= Tan(—] 4= Sec( j
Nol = 12 12 ) |, No2= [7_n] (L]
Tan — Tan
5=Tan((-15)°) .6=Sin(255°%) 30 15 o o C on o o
2 = T i .8=Cos(5") Cos(25”) — Sin(5”) Sin(25%)
| 7= CO{ 2 .8=Csc((-105)° )_ 1+ Tan[gj Tan[gj
B 2 Tan(22.5°%) B Tan(12°) + Tan(33°)
I - Tan(22.5°) 1 - Tan(12°) Tan(33°)
i [ I 3w } i i [ T 3 n} i
A=0,B=—C=—,D=2n A=—B=nC=nD=—"
2 2 2 2
[comar=[smor 3 comz={coum=3) || conr = coser =) contz=( s 3
Condl =| Sin(a.) = |, Cond2 =| Cos(B) =" Condl =| Cos(a) =", Cond2 =| Sin() ="
No3 = 4 5 . Nod = 5 3
.1 =Cos(a) .2=Sin(pB) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(a+B) .3=Tan(a) 4 =Sin(a +B)
S=Cos(p—a) .6=Tan(a—B) S=Cos(aa—B) .6=Tan(f—-0a)
L .7=Sin(2 B) .§=Tan(2 a) ] L .7=Cos(2B) 8=Tan(2 a) ]
M
No5 =[ Cond = (Cos(32°) = 0.848), Question = Sin(16°)], ,| U
T
M
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No6 = [ Cond = (Cos(52°) = 0.616), Question = Cos(26°)], ,| U
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TrigonometryExercise4 for No.11901

2
A
P
_ 5 . V
. T 3 o o o : (o} S
A=1-2 Sln[g] .2 =Sin(55") Cos(10”) — Cos(55”) Sin(10") s
[ o ()] 1l 7 n 117 n &
1 =Cos(105%) -2=Sln(_J .3=COS( )a{—}sm{ ]sm(—} .4 =2 8in(22.5°) Cos(22.5%) S
12 18 9 18 9 M
Sw 197 o o
_ 2T _ Tan(85°) — Tan(25 Tn T Tn T a
Nol = ~3—Tan( 12] -4—CS°[— ” J No2 = 5o —Ten(83) ~ Tan(23) .6=Sin£—J COS(_jﬁ-COS[_) Sin(—) p
. ol 1 + Tan(85°) Tan(25°) 18 9 18 9)) ’ )
.5=Cos(345°) .6=Tan((-15)°) 2 Tan(22.5%)
o [13m B o .7 =Cos(12°) Cos(48°) — Sin( 12°) Sin(48°) =" @
_.7—Sln 2 .8 =Sec(255%) ] 1 - Tan(22.5%) M
2 U
2 2 ks
.9=Cos(15°) —Sin(15°) .10:2C0s[—) -1 LL T 1]
L 12 J )
o
)
L
b b1 3w 3w
A=0,B=—C=—D=n A=n,B=—,C=—D=21
2 2 2 2
1 . 5 -1 . -1
Condl =| Cos(a) ="~ |, Cond2 =| Sin(B) =T Condl =| Cos(a) =T"|, Cond2 =| Sin() ="
No3 = 6 T Noa= 3 2
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(p)
3 =Tan(a) 4=Sin(a+B) .3=Tan(a) 4=Sin(f-a)
S=Cos(aa—B) .6=Tan(f—-a) S=Cos(aa—P) .6=Tan(a+p)
L .7=Sin(2 B) 8=Tan(2 o) ] L .7=Cos(2 o) 8=Tan(2B) ]
M
No5 =[Cond = (Cos(44°) =0.719), Question = Sin(22°)], ,| U
T
M
No6 =[ Cond = (Cos(16°) = 0.961), Question = Cos(8°)], ,| U
T
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TrigonometryExercised4 for No.11947
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e
P
_ - 14
(1= I nMn) (= I1n T (1l=n) (m
.1 =Sin Cos| 7= |- Cos Sin| — | .2=Cos| Cos| — |+ Sin Sin| — N
36 18 36 18 18 9 18 9 S
| 57) | 2 Tan(22.5%) x Y x Y &
.1 =Sin(105%) 2=Cos| — - 4=Cos| ——| —Sin| s
12 | - Tan(22.5°). ' 12 12 M
3=Tan(15°)  .4=Sin((-75)°) ~ Tan(2257) a
Nol = n » No2=| " 5=38in(20°) Cos(10°) + Cos(20°) Sin(10°) _ Tan(857) — Tan(25") !
.5 =Tan _E .6 =Cos((-165)") ’ 1+ Tan(85°) Tan(25°) h
171 . nY 2 @
.7=Cot| — n .8 =Csc((-285)") .7=1-2Sin g .8=2Co0s(22.5°) -1 M
- h U
. o o b Sn (m) (5w
.9=2Sin(15") Cos(15%) .]OZCOS(_j Cos[—J—Sln(—J Sln(—j LLT]
L 9 36 9 36 ) ] B
o
)
- - - - - :( -
b 3n b 3n
[A:O,B:—,C:—,D:Zn} [A:—,B:R,C:R,D:—}
2 2 2 2
3 . -3 . 1 -5
[Condl = [Cos(a) =—|, Cond2 = (Sm(B) :—H [Cond] = (Sm(a) :—j, Cond?2 = (COS(B) :—H
No3 = > 811 Nod = 2 8
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(PB)
.3=Tan(B) 4 =Sin(a + B) 3 =Tan(P) .4 =Sin(a - )
S=Cos(aa—fB) .6=Tan(f—a) S=Cos(aa+B) .6=Tan(f—-a)
L 7=Sin(2B)  .8=Tan(2a) ] L 7=Sin(2a)  .8=Tan(2p) _
M
No5 =[ Cond = (Cos(70°) = 0.342), Question = Sin(35°)], ,| U
T
M
No6 =[ Cond = (Cos(48°) = 0.669), Question = Cos(24°)], ,| U
T
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TrigonometryExercise4 for No.11989

2
G
- - P
o o 2Tan(l] 4
B Tan(50”) + Tan(10%) B 12 S
_ 5 - " 1= Tan(50°) Tan(10°) c [njz L s ]
_ o T T o 1 —Tan| — &
.I—Cos[ 12] .2=Sin(15%) i i 12 sl
.3=Tan(105°) .4 =Sec((-285)°) .3:COS[LJ _Sin(ij ‘4:2COS(150)2_1 a
Nol = 137 0. b No2 = 12 12 A , t
.5:Cot£ ] .6=Csc((-195)") 55 - 51 - A
( 127[ j 5= Cos(55%) Cos(10°) + Sin(55°) Sin(10°) .6 = Sln( 5 JCOS(BJ COSET) Sin(gj @
.7=Cos| =7/~ .8 =Tan(165") - M
: 12 . 7= ZSm[ngOS(SJ .8 =Sin(12°) Cos(18°) + Cos(12°) Sin(18°) U
2y (el sl )] S
.9=1-2Sin(22.5%) .10 =Cos| 7| Cos| —— |- Sin| = | Sin| —— :)
L 18 9 18 9 /] =
o
)
L o
i [ n m } | [ [ 3n 311 ]
A=0,B=—C=—D=n A= B=2m C=n D=
2 2 2 2
o =(siar= ) cniz=conm =) | ont=[smar ) comz = o3
Condl =| Sin(at) = |, Cond2 =| Cos(B) =" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 8 6 . Nod = 3 2
1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
=Tan(P) 4=Sin(f-a) 3 =Tan(a) 4 =Sin(a + )
S5=Cos(aa—PB) .6=Tan(a+ ) S=Cos(p—a) .6=Tan(a—P)
L .7=Sin(2 a) 8=Tan(2B) ] L .7=Sin(2 a) 8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(78°) = 0.208), Question = Sin(39°)], ,| U
T
M
No6 = [ Cond = (Cos(34°) = 0.829), Question=Cos(17°)], ,| U
T
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TrigonometryExercise4 for No.11996
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G
P
~ - 14
Tan(20°) + Tan(40°) (7= n Tn) (= S
A= .2=S8in —— |Cos| = |—Cos| —— | Sin| =
r N 1 — Tan(20°) Tan(40°) 30 15 30 15 LLs ]
o . &
.1 =Cos(75) .2:Sm(—J 2 Tan(15° . N
12 o2t 4=2Cos| —| -1 M
T 197 1-T (150)2 12 a
/- ,3:Tan(—j .4:Cot[— ] 5 an , )
A 12 12 /1), No2 = T S Tan(85°) — Tan(25°) ’ ’
231 .3=Cos| — | —Sin| — 6= h
5= Cse(255%) .6=Tan| -~ 8 8 1 + Tan(85°) Tan(25°) @
2
|.7=Sin(165°) 8= Cos(345°) | .7=Sin(20°) Cos(10°) + Cos(20°) Sin(10°) 8=1-28in(15°) 1\(;1
T T b T
.9=2Sin(22.5°) Cos(22.5%) .10:C0s[—J Cos(—j+ Sin(—j Sin(—j T
L 3 12 3 12/ | o
)
A
)
L
b1 3w b1 3w
A=0,B=—C=n,D=—" A=—B=n,C=—"—D=2n
2 2 2 2
5 , -1 , 1 5
Condl =| Cos(at) = |, Cond2 =| Sin(B) =" Condl =| Sin(a) =T |, Cond2 =| Cos(B) =T
No3 = 8 2 ., Nod = 2 7
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(B)
3 =Tan(a) 4=Sin(f-a) 3 =Tan(a) .4 =Sin(a - )
S=Cos(au+p) .6=Tan(a—P) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Sin(2 B) S=Tan(2 a) J L .7=Cos(2 a) .8=Tan(2 P) |
M
No5 = [ Cond = (Cos(30°) = 0.866), Question = Cos(15°)], ,| U
T
M
No6 = [ Cond = (Cos(74°) = 0.276), Question = Sin(37°)], ,| U
T
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TrigonometryExercise4 for No.12889
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_ , B} i
T 2 2 P
.1=2Cos S -1 .2=Cos(15°) —Sin(15%) v
2 S
. 1 .3=Sin(105%) Cos(15°) — Cos(105°) Sin(15°) 4=1-28in(22.5°%) | s ]
.1 =Sin| — 2= 15° 19n b T
Sm[ 12 j Cos(157) Tan[ ] - Tan(—] 2 Tan(—J &
60 15 8 M
7n b S= ="
3= Tan(zj 4= Cot(— Ej 97 T - 2 a
Nol = .  No2= 1 + Tan| 60 Tan E 1 —Tan(—J i i ¢
.5=Cos((-165)°) .6:Csc£— ) i sm i sm i i h
= Sin(—] CosE—) + Cos(—] SinL—) 8=2 Sin(—) Cos(—] @
. (1= 12 12 12 12 12 12 M
.7 =Sec(255%) .8=Sin —; T T
- - Tan(—J + Tan(—J u
10 15 o o . o . o LL T 1]
9= .10 =Cos(35") Cos(25”) — Sin(35") Sin(25") y
b T :
1- Tan[—J Tan[—J -
L 15 ] o
2
L (0
T 3n b3 3w
A=0,B=—C=n,D="—" A=—B=n,C=—"—D=2n
2 2 2 2
5 . -1 -1 . -4
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) =" Condl =| Cos(at) =1, Cond2 =| Sin(B) ="
No3 = 9 611 No4= 2 5
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(a +B) 3 =Tan(P) .4 =Sin(a + )
S5=Cos(aa—B) .6=Tan(f—-a) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 o) .8=Tan(2 B) ] L .7=Cos(2B) .8=Tan(2 o) i
M
No5 = [ Cond = (Cos(44°) = 0.719), Question = Sin(22°)], ,| U
T
M
No6 =[ Cond = (Cos(74°) = 0.276), Question = Cos(37°)], ,| U
T
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TrigonometryExercise4 for No.12890

2
o
I 2 Tan(15°) o . ] P
l=—"—"75 .2=2Sin(15%) Cos(15°) v
1 —Tan(15°) S
_ ; _ 5 S
o . Ul T o
1 =Cos(75") .2=Sln(3) .3=Sin(57°) Cos(12°) — Cos(57°) Sin(12°) .4:200{;) -1 &
M
_ (lj - o 2 2 nY a
3 =Tan 7 4= Cos(3457) 5=Cos(22.5°) — Sin(22.5°) .6:1—25in(—j
Nol = , No2 = 12 , , t
17n 137
.5 =Cof| .6 =Tan Tn T h
12 12 Tan 36 — Tan| 36 @
23 1 7= .8 = Sin(20° 10° 20°) Sin( 10°
7= Sec((75)) _gzsm[- ] -~ . 8§ =Sin(20°) Cos(10°) + Cos(20°) Sin(10°) M
L 12 /] 1 + Tan| — | Tan| — U
36 T
o o : o . o T T . T . T o . o
.9 =Cos(102%) Cos(12”) + Sin(102") Sin(12°) .]():Cos[—j Cos(—j—Sm(—] Sln(—] 2
L 12 6 12 6/ :
o
)
L
[ P 3n } [ T 3 n}
A=0,B=—",C=—"",D=2n A=—",B=n,C=n,D=""—
2 2 2 2
3 . -1 . 1 -1
Condl =| Cos(a) =~ |, Cond2 =| Sin(B)="" Condl =| Sin(a.) =7 |, Cond2 =| Cos(B)=—"
No3 = 4 20 Nod= 3 6
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(PB)
3 =Tan(a) .4=Sin(a - B) 3 =Tan(a) 4=Sin(f-a)
S=Cos(Bp—a) .6=Tan(a+f) S5=Cos(aa+B) .6=Tan(a— )
L .7=Sin(2 B) S=Tan(2 o) ] L .7=Cos(2 o) .8=Tan(2 B) ]
M
No5 = [ Cond = (Cos(66°) = 0.407), Question = Cos(33°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
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TrigonometryExercise4 for No.12891
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.1 =Sin(75%)

.3=Tan(15°)

Nol = b
S5=Sec|—-———
12

137
.7=Sin( ]

12

[7n] _
.2=Cos| —
12

4 =Csc(255%)

17w S5n
Tan| — Tan| —
36 36
17w S5n
1 + Tan Tan| —
36 36

.3=Sin(105%) Cos(15°) — Cos(105°) Sin(15°)
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o. | No2 = 2 2
.6 =Cos((-285)") o o . o Y b m
.5=Cos(70”) Cos(20”) — Sin(70”) Sin(20") .6=COS(E) - Sln[gj
.8 =Tan((-75)°) ] 5 Tan(i
S 1l= b Iin) (= 12
7= Sm( )Cos(—] + Cos( JSm(—] 8=
60 15 60 15 n
l—Tan[—J
12
2 T
.9=1-28Sin(22.5°) 10=2 Sln( JCOS(_J
L 12 12/ ]
[ b b1 } i [ [ 3n 3 n}
A=0,B=—",C=—",D=m A:—B 2n,C=n,D=
2 2 2 2
[Condl = [Cos(a) —Ej Cond?2 = (Sin(B) :EH [Condl = [Sin((x) :ij Cond?2 = (COS(B) :iﬂ
4 8 L Nod= 5 6
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2=Sin(B)
.3=Tan(pB) 4=Sin(a+ ) 3 =Tan(P) 4 =Sin(a +B)
S=Cos(aa—B) .6=Tan(fp—-a) S=Cos(aa—B) .6=Tan(f—-0a)
.7=Sin(2 o) 8=Tan(2 B) ] L .7=Cos(2 o) .§=Tan(2 B)
M
No5 =[ Cond = (Cos(18°)=0.951), Question = Cos(9°)], ,| U
T
M
No6 = [ Cond = (Cos(40°) = 0.766), Question = Sin(20°)], ,| U
T
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TrigonometryExercise4 for No.12917
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1=Sin(75°) 2= Cos(—] 3=2Cos(22.5°) — 1 4= Sin[ij COS(EJ N COS[L) Sin(ﬂj &
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0 (197 Tan(48°) + Tan(12°) a
-3 =Tan(105%) ~4=Sm( j = .6 = Cos(102°) Cos(12°) + Sin(102°) Sin(12°)
Nol = 12 |, No2 = | — Tan(48°) Tan(12°) . !
5=Cot((-255)°) .6=C ( 23“) ’ ’ 2 Tan(15°) ;
D =00 - Oo=0sc| —— T T an
12 .7:Cos(—j —Sin(—j = @
o o 12 12 02 M
|.7=Tan((-165)°) .8=Cos((-285)°). 1 - Tan(15°)
(17n 5 177 (5= L u
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2
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[Cond[ = (Cos((x) :i , Cond2 = (Sin(ﬁ) :iﬂ [Cond] = (Cos(on) :ij, Cond2 = (Sin(ﬁ) :iﬂ
No3 = ? 34 Nod = 3 2
.1 =Sin(a) .2=Cos(PB) .1 =Sin(a) .2=Cos(PB)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(a) 4=Sin(f-a)
S5=Cos(aa+fB) .6=Tan(a—B) S5=Cos(aa—B) .6=Tan(a+p)
L .7=Cos(2B) .8§=Tan(2 o) ] L .7=Sin(2 B) .8=Tan(2 o) J
M
No5 = [ Cond = (Cos(28°) = 0.883), Question = Cos(14°)], ,| U
T
M

No6 = [ Cond = (Cos(8°) = 0.990), Question = Sin(4°)], ,| U

T
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TrigonometryExercise4 for No.13099
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) . P
11
Tan[ n]—Tan(Lj 4
36 18 (= T n) (= S
= .2=Sin| — | Cos| — |+ Cos| — | Sin| — S
- . LT (nnJT (LJ 18 9 18 9 Lol
.1 =Cos(105°) .2=Sin[—j TR T3 ) g &
12 2 2 M
T s
3= Tan(75°) ,4:(;0{19“] 3= Cos(75°) Cos(15°) — Sin(75°) Sin( 15°) .4:@{—)—51{—) a
Nol = 12 ) |, No2 = 8 8 , ¢
.5=Cos(255°) .6=Csc((-15)") 5= 1-28in(15°) s_2Tan(15") h
137 ' ' 02 @
.7=Tan .8=Sin((-75)°) 1 =Tan(157) M
L 12 : .7=28in(22.5°) Cos(22.5°) .8=Cos(40°) Cos(10°) + Sin(40°) Sin( 10°) U
x Y Tan(50°) + Tan(10°) L 7]
9=2Cos| — | —1 0= ,
I 12 1 - Tan(50°) Tan( 10°) ] 2
o
2
L o
b i 3n 37
A=0,B=—,C=—"D=n A=—B=2n,C=n,D=""
2 2 2 2
1 , 2 4 , 2
Condl =| Cos(at) =7 |, Cond2 =| Sin(B) == Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—"
No3 = 2 341 Noa = ? 3
.1 =Sin(a) .2=Cos(B) .1 =Sin(a) .2=Cos(P)
3 =Tan(a) 4=Sin(f-a) .3=Tan(a) 4 =Sin(a +B)
S=Cos(aa—B) .6=Tan(a+f) S=Cos(p—-a) .6=Tan(a—p)
L 7=Cos(2B) .8=Tan(2a) ] L 7=Sin(2a)  .8=Tan(2p) i
M
No5 = [ Cond = (Cos(6°) = 0.995), Question = Sin(3°)], ,| U
T
M
No6 = [ Cond = (Cos(52°) = 0.616), Question = Cos(26°)], ,| U
T
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TrigonometryExercise4 for No.13100

)
I 4n n)  (4n) (= Tan(42°) — Tan(12°) | i
.1 =Cos| — |Cos| — |+ Sin| — | Sin| — 2= P
9 9 9 9 1 + Tan(42°) Tan(12°) V
T
2Tan[—J s
12 . 1co 0 S
r 5 7 =3 .4=2Sin(15%) Cos(15%) R
.I:Sin(—] .2=Cos(105%) n &
12 1 — Tan| E M
.3=Tan(15°) .4 =Tan(195°) ) a
Nol = 197 , No2 = _ T _ . o042 R t
¢ ,5:3111[_ 12] 6= Cot(255°) [ .5—2COS(12] -1 .6=1-25Sin(22.5%) ,
11n Sn I ’ = ’ . o o o . o @
.7 =Sec| — 2 .8=Csc —E .7=Cos E — Sin g .8 =Sin(35") Cos(25") + Cos(35") Sin(25%) M
L . U
T T
Tan[—j-t-Tan[—j LLT 1]
10 15 b Sn (m) . (S5m .
= .10 =Cos| — |Cos| —— |—Sin| — | Sin| —— A
T T 9 36 9 36 .
1 —Tan| — | Tan| — :(
L 10 15 ] 5
Lo
[ b1 375} [ b1 3w }
A=0,B=—",C=n,D="— A=—",B=n,C=—",D=2n
2 2 2 2
4 , -1 . 5 1
Condl =| Cos(at) =7 |, Cond2 =| Sin(B)=—" Condl =| Sin(a) == |, Cond2 =| Cos(B) =7
No3 = 9 4 ., Nod = 7 2
.1 =Sin(a) .2=Cos(B) .1 =Cos(a) .2 =Sin(B)
.3 =Tan(P) 4 =Sin(a+ B) 3 =Tan(a) .4 =Sin(a - )
S=Cos(aa—B) .6=Tan(f—-0a) S=Cos(aa+B) .6=Tan(f—-a)
L .7=Cos(2B) S=Tan(2 o) ] L .7=Sin(2 B) S=Tan(2 o) ]
M
No5 = [ Cond = (Cos(72°) =0.309), Question = Cos(36°)], ,| U
T
M
No6 = [ Cond = (Cos(12°) = 0.978), Question = Sin(6°)], ,| U
T
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TrigonometryExercise4 for No.13139

[ 2 (= S5n T (5= 1
1=2Co0s(22.5°) -1 2= Sm(—j Cos(—j + Cos(—J Sm(—j
12 12 12 12

Tan(50°) + Tan(10°)

Tn
3= Tan(;j .4 =Tan((-285)")

Nol= T 231
S=Cos| ——— .6 =Cot
12 12

_ N
.1 =Sin(75°) 2= Cos(—] D=
12

o 137
.7=Csc(165%) .8=Sec n

L
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1 - Tan(50°) Tan(10°)

2 2
.5=Cos(15°) —Sin(15°)
, No2 =

b 3n i
0,B=—",C=n,D=—"""
2 2

[Cond[ = (Cos((x) :EJ, Cond2 = (Sin(ﬁ) :iﬂ
No3 = 8 273 No4=
.1 =Sin(a) .2=Cos(B)
.3=Tan(pB) 4=Sin(f-a)
S5=Cos(aa—fB) .6=Tan(a+ )
L .7=Sin(2 a) 8=Tan(2B) ]

.9 = Cos(20°) Cos(25°) — Sin(20°) Sin(25°)

2
. T L
4=1-2Sin| —
8

Tan(40°) — Tan(10°)
1+ Tan(40°) Tan(10°)

i
2 Tan| —

(5= b Sty (=m 8
.7=Sin| — | Cos| = |- Cos| — | Sin| — ="
9 18 9 18 -

2
1- Tan(—J
8
b1 s
10=2 Sin(—j Cos(—j
12 12

i 37 b
A=—"B=2n,C=—",D=n
2 2

No5 =[Cond = (Cos(18°) =0.951), Question = Sin(9°)], ,| U

[Cond] = (Sin(a) :éj, Cond?2 = [COS(B) :%H
.1 =Cos(a) .2=Sin(B)
3 =Tan(P) 4=Sin(f-a)
S5=Cos(aa—B) .6=Tan(a+ )
L .7=Sin(2 o) .8=Tan(2 B)
M
T
M

No6 = [ Cond = (Cos(64°) = 0.438), Question = Cos(32°)], ,| U

T

T reNCcE®@s s ERruun v
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TrigonometryExercise4 for No.13411

.2=Sin(15°)

i 1971 T
.1 =Sin Cos| —
60 15

o

19n] (n) [475} (n] .(4n
Sin| — | .2=Cos| — |Cos| — |+ Sin| —
60 15 9 9 9

o

Tan(25°) + Tan(20°)

1 =Cos| —/
12

.3=Tan(75°)

4 =Sec(345°%)

1 - Tan(25°) Tan(20°)

i 2
.4:2Cos(—j -1
12

2 2
n T
Nol = %7 137\ |, No2 = —2si o o —Cos| = | —sin| = ,
o ‘5:CSC(_ 12] 46:Cos(— 12] o .5=2Sin(22.5%) Cos(22.5°) 6 COS(S] Sm[gj
r Tan(50°) — Tan(20°) 2 Tan(22.5°%)
.7 =Cot(195° 8=T = o o = 2
L ot 195°) an( 12 j 1+ Tan(507) Tan(20") 1 — Tan(22.5%)
(= Sn b (S= . 0.2
.9=Sin| — [Cos| — [+ Cos| — | Sin| —— 10=1-2Sin(15%) LL T
L 18 18 18 18 i
[ T 3n i [ b3 3w ]
A=0,B=—,C=m,D="— A=—B=n,C=——D=2n
2 2 2 2

[Cond[ = (Sin(a) = %j Cond?2 = [COS( B)= ESH

[ Condl = (COS(OL) = f) Cond2 = (sm( B)= ZIH

5l

SR NTE@ s~ ERrun U

No3 = ., No4 =
.1 =Cos(a) .2=Sin(pB) .1 =Sin(a) .2=Cos(PB)
.3=Tan(pB) 4 =Sin(a - B) 3 =Tan(P) .4 =Sin(a + )
S=Cos(p—a) .6=Tan(a+ ) S=Cos(aa—B) .6=Tan(f—-a)
L .7=Cos(2 o) .8=Tan(2 B) ] L .7=Sin(2 o) .8=Tan(2 P) i

M

No5 = [ Cond = (Cos(26°) = 0.899), Question = Sin(13°)], ,| U

T

M

No6 =[ Cond = (Cos(56°) = 0.559), Question = Cos(28°)], ,| U

T
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